® (-5.6) - (-4.7) = -1.1

7) - (+8.5) = —6.8
)= (+8.5) = -0.9
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Al 4= 3x52, 2 x39%x52, 2x3x5°x7 9 FHYFFS7d x5 0|,

- d b _
HagueTt 2 x 8 x 52 x7 D, 4 -2 o gra gatuy
c a

@0  @n ® 5 @ 9 ® 12

S5 ~
A 3oH7t x5,
HAFZ57T 23 x 32 x 52 x 7 0| B2
a=2,b=1,c¢c=2,d=3
d b 3 1

Z_Z=Z_-_-1

¢ a 2 2
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<_1)2009 X (_1)2010 + (_110) X (110)

@_2 @ -1 ® 0 @ 1

B

(_1)(14—1‘—) =1, (-1) ) — olm &
(_1)2010 =1 , (_1)2009 =1

(_110) — _(110) =1 , 110 =1
et A

(_1)2009 % (_1)2010 4 (_110) % (110)
=(-1)x14+(-1)x1

= -1+ (-1) = -2 °|t},




